
J#-ill o3Jo3 L,lrrrrtj qtt.aiYl êJlrll 4$

'*i'll -

,§t., tu '6lJl* .20L8101,l .g,;Ell-

. Ll+lrilt {,r,,rt-r.lt ,yt+i" .r.à Ots:.t *

201,6 ;ç-§Î 3i: e$l ùi J+ô ,"8 "J "A " d)*otjll ùr.iLll L-Lt \l "pLiJI" {--3^ e+ :(lZpts) CX-r"itt -

:é t.S J+,Ill Àt'il aiJjJl èL"Jul ,",,^i.\3 ,"M2"J "Mr":;$3ït i;glUt cjl *i,! L;À "A'teii."Jl cjlcJÈi§l
."Mr" ;rl-II ilrllJ ,"M1" ;rt"ll 5760DA:kj" ,9600DA:el;,;)J - :ô-,!*L.l"cll etpTf - I

.4.cL*t\ ggp[;;a-u ôJ-§l.+" d^' LL- 5000:6Li.,X -
4cL^ i;r-3 cJS gDA:61-I_*I -

rlor-\1 ,',, ^r.\;ô,.yll+"Jl JÉ pqrÊYl -
;=-t-.)t 1U-!Xt a.rcuJr 1u*e'!r 1r*'ô)r

ùr^JlrutcJl
Cr,,j)1 d/"Jl."tj1 l]L"oJ1 o11.tTl

33600

6

6

136800

6

6
4

6

90000

4

35100

2

tlTtg/tXr+"
arrr{ g.;y'r

;-;r.rJrf .se;ulr

L r.r 1000 DA ,rçJt .:rl-tog t"*J,

.,! t"S _K;ll !W *s u!.=l :"M2'o J "Mr" égJ3Yt ga:lu"u p:l-ül l;Cl -- 3
:"[v11" Ë"tLell -

èlc,J1
ô"tr-3Jl .,**r ffir ùÇ1 ëlYJl ôJzrl rr*, a-"Ét ùLJ1

700

éTLs§-,ll

pilt yî;4;,*
86.4 1000

3600

ypJr Jji bsuu,

Otr;.iJt

4600 gn+"Jt 90 1ia.Jt

:"M2'o ôtlJl -

"8" J "6*' ô*+3idl çæ ;g"iiJl d*i *gj,** * *
.o*JY :"AJ' e-iill -

.ôo1s 380 DA :->'.+ Ër-3 600 .'rB1! eii;l *
."A" 6IJl e,ro Ër=:2500 'JgiJl6U:t - S

(r.-rZ) "Mr"r "Mr" :1çi.1-X É1-ü1 r;-Jl ,r+L'^,J"Silf :,"iJÀL^ll-dEatl -
"Mr"J "M1":,1*$3Vt ;pi.Ul sr^ ulsJl ÊliÀsll ol;,*,Ë üi 

'L^I.,;r3al1 rÀ'ryül gr-rê1 tJ^+* q-,*iiz
.(,:r.sO) q"{]rill & gz DA-r 75 DA :rÀ

///

Tt

:J4*jJl *k+M * 6
ô:*lyJl Ëo*ü 650 DA:_r^+ "A" efLll ü^ ôr*_l 2000
.ô:-13J1 Ë*;'IJ 400 DA:e "8" g:jJl s^ ôr-3 500

et"Jr ôJ-jl f.", a*(Jt ùrJ1 eu1 ô't.>rr _.,*., ;u"*t ÔLJI

L10 2800

200

ôTtoe;l-,Tl

,A:)t Vî o3p
118 600 p"Jt )jî ;tjy*

druJriJl

g*+Jt 3000 gr.e"Jt



.(C1.50)"A":,,'JI ei-ilr gLi..,l iil$,,,*,-i/4 (.tS) ô;*iqll ,4e "!.yl ëji cJ:+ 3.aî73.(iE.so) +lu*yt_, al- él ;,,t:-:tt 4+"üjltr ,JI$li;o_ ,=-r,,-i75ol' zooo DA:1000 p4's'r ôJ$'ll -* ''*v,r'oguryr ;,^.-rr":r;;i * og1'-r a;!.L:ll i++jijl ,,,,,,.=î/6

ù:j;- 6^ crYt-:rYt 3: +J A-+!l irt "Jl iilsilf+ *tr.ijJl; ql;ÿf -:r3Jr Lr^ krr+-,rl "-IitJ?H* !§T1 n

. 
t'Mrt' 

: ttMrrr:ùp,J:ÿl

.;uJt Jri
:"M2" J "M1" i$lt-"lj l;+Jl çL-.,"r etül _ f

u+.rrtll q..r11., dHn+LJl .»l:.+ll é cj-ll {-1[§ ,, r\t-r
.#_$^itl 

3iJ ç:,r:fr gj*,JtË** el__* _ z

:ô-,ril-*Jl *è pt=,cÿt sj.S cls"r+ pUt - 3
;futÇkJl crtaraJl çt*r* * X * g

.Y :,iiÇdl r X :Ëtl"ryl ;ôrüht"r,.+Jt dbs-t * i

:Yg X:ô4#â"a3§,at**-ç

'ixJ^sl @ ,J-rVr &i-9.11 g-r^+* qdt-"- - ,- ;

ç_r-1r 1u;lr_.-;----]-._-_-_1-

eiPr leu)' l.cpJ,

*ç 3§rl"el -A*
1*:r ----

_---t 
éÇ\

f3ltg;3Jrg*+"
ôrr,)-il e,y'r
eH!- çr'ur

ô"rcr*Jr 1u3Irru;içdt | 1r:lr33600 1.36800
35L00

11"'" 1000 DA up Utî ôrr* pÿ!"(
,SiEJl ,,,içJt ,ç*

ç-7J V

,rUJt c-,t.u1 a"r$

, pLdl .:l.t+o :-tc

4r!ôl ôJo9 ari.lss

:ô-'.ikJl kpÿr d

= ôlt*, Ul,i ;rU ü*t
:Lt.r10CI0DA



'J#iJl Ctijl Ai§i ?U*,â - 4

rc+
( ) rur eill( ) ltltg'Jl

çül .ri-:+j,t nu1 i;19-

;;ül g,lfl .rlt*
:ôÉtoil J,, rlrï1

6;" ,|^(J.,*!JFJI ;e'.;Jl

Uu+! t rï.l"lrdl1 ;t+rJ 1

( )ruJrA!.Jl ( ) pt'lt6*lt ùçJl

M P.U a M P.U a
:ôlÇJl çlc'it

,,-*- "-r., ( ) Çy!, ;,U, ,r; i,;tl:

.f^-.*tr ( )^!rlr ;,rl'r );'"iÇ;
;/ül et!)l --,rL*
:ÿÇJr ,c r+'!t

,rrül Ê Ctj)l .ju.)Lâ

6r,;)t i,ilS;

VI t,
L,y }J y.l* çL*s:'

dur ùÇJl

Çu*'it ÀJJ.'il a++jjl

, lr
à-3U.ô \l ,.pua)t

t,,
ogall y"c cL.c)l

4,etdl ;i$æJt ;q*rlt



(or.so)

(or.so1

:"Mr" J "Mr" iÉ.ltoll -1çll çt rr fto! - r

'it"J"lll fÂ çg.81 6*js.1l tJ^+. çl.rr - f
:"M1" ô.tt-c.ll i;É,t 5ll Jie (ôiJ^rll) rllll e-i;';ta,. çl*..r - 1- 2

C) ;;lJl ;r: â$Ul elJ,-,irll ,-+J1--^ + *l;,$l LJ,.3 = rl;Éll ;'ÀlS

.€r 51840 = Ë..d.r <+ à.d e + 5760 + (75 x 3600) = 327600(c 01 00)
.er 51840 = 5760 - 57600 = à."É.e <+ 5760 - t (75 - 91) x 3600) I = à.r-e,t.e :,s;'i ++;h -

:"M2" ôltJl ôy'l;..Jt * (Ol-l^ttl) rl-/ill lÀ"-i...a.c çt-r: - 2 - 2
(+ ô;.i14Jl -,*r-l ô1"iUl elJri,ll , à,1;1*o + pl É11 ;j = rl;ÉJl iils

(ô01.00) 

------+.er 
34s60 = à."É.e <+ àde+ (5760-9600) + (92 x 2400) =259200

.er 34560 = 3840 - 38400 = à..É.e <+ 3840 - t (92 - 108) x 2400) I = à."É.e :,rli a+Jh -
"Mr" ôtt-ll i.c-É.p * "M1" ;lt^ll i.cÉ.Ê - rJJ,Él Ê*il ç-r.ült ëi$l tJ"+"

(C 01.00) ---------------- Cr 86400 = 34560 + 51840 = ::i u+-r"il!
:i-*"!^ll -,rp pteÿl 6;j.É cJl+ ,.t":t - 3

;4Jl!i.Jl cila§ll r-r1,,l.r - 1 - 3

;ùrü!.rlr-cll d$.tl - i

(oot 00) .----.*t i1i,iii1'/i,i';:--- :3
:Y g X :iJ. dS i+ çL^.,o - ç

(o 01.00) 

-> 

X = 45000
(c 01.00) ------------+ y = 99000

'ô".J"ill ,^ ,=JrV' §j-fll tJ^+. çt*,s - 2- 3
<+ tfuç,-tt frC"L$^ll ditarill + â;l.rYl f*gCrL.rLll ôtâ.rill ] + I ô I =[ dr I:qJ

tfu!,.Jt f*siFL$"ll dil.Âsll + §_.1l.rYl frC"L$"ll crtn.rÀll I - 1[ô I = I c, I
ê [( 2016 x 99000) + (20l4x 45000) I - s0qoo =

er [29700 + 9000] - 86400 € [( 6 x 49s0) + (Ax 225O)l - ss+00 =
(ü 01.00) ------> 47700 = 38700 - 86400 = I * I

èt+eJr
ô,w1Jt S- a*(Jr ôçJl iJsJl ô.t>jt y 4."(t ùul

351000

53000

90

90

3900

700
dt .]v!.,!

ç,Jr çï oeyt

86400

327600

86.4

91

1000

3600
,4-lr S3i tjy*

o)t:r)l

414000 90 4600 U"+*lt 414000 90 4500 (;lcq.Jl

:"Mz
il*Jl ôu5Jl .,r-, 4^*l ùul ètra,t ô,t>j\ y ;*Ét ùut

308000

22000

110

1r.0

2800

200
.+:^ltotzÿ!

)4,:"Jt fÎ ëjî,-,

70800

259200

118

108

600

2400
dt St\ o1p,

er)t:r)t

330000 110 3000 CJ.+.Jl 330000 110 3000 gi+"Jt



;-.1,ül+"ll t+eYï Ë cjss rlse!- 3_Pv
4,.u1rp*lt a,r-ctJl ,uilt 1u;1t

üÇ1ricJl Clri)l 'rwJl ÀjL.oJl ô11r)l

33600

13500

29700

L36800

13500

29700

47700

9000

29700

90000

9000

99000 -

3s100

45000 -
9900

tjTtgÿtüta'"
ôJlr'it 

-l 
e-lj,,Jl

u,. ^rr l.riuJr

76800
r ,.'* 1000 DA

1500

180000 86400
ôlji, U"eî;ru 1ÿ.5ll5

6000

00 00 I d', I
,rtJJt ,:t.t-9 l+.!

,rL.ÂJt c.,rt.u9 r.tr

sL.2 I L4.4 urÇJt ,:t.r-9 iriJ53

;iltr#àJÉ -

(c ot .00) ------------

(o 01.00) -----|
(ù 01.00) ------f

eJU^+YtS C+^ ,JSl i;lJLill ;.*ÉillJ iit-«t Jr*r !i1",,à - 5

(e 01.00)

(o 0.50
(o 0.50
(c 0.50
(o 0.50
(c 0.50
(a 0.50
(c.r 0.50

(o 01 .00) 6000 : 24oa + 3600 : ôL:-:^, Çeî ôrt" îlr'rs

1 1300000 : «650 * 20001 : A 1 
:,ÿ L:;r 1000D4

15OO: 1000/1500000: L zooooo :1400 * 500;: B J

:"4"Êtill CIllJ Jÿ-Tll 6Eil ;'itsi çt.,rr - {
(A ) lttte"Jt

:ÿÇJrrt*)r
,t-* tr (M1) ,rlj\r ;rür .r; "";t*

Âl--'J ( M2)^Jy)r ;:t1'.7 oiK.i

;y'Lll eUj)l -j"-rlâ

:ÿ!*lr,"c çPIt

â;qt -,l, elj)l .-à,"rLs

90

110

98

3900

2800

5000

351000

308000

490000

180000

qlt"+'lt ;:,uâiJl 4+Jl

çL,b)l r#tjJl

;rr"Lt ,r" ,ç!t
4pt-âJ1 4JJ.*JI iaJl

>irrru

)

(A ) fr,Jl e,i..Jl
(A )ptttg-.lt üÇl

M P.U a M P.U a

190000

=<\-H
380

B

>\\
500

s00

-3oo

1"063200

16000

66560

531.6

8

51,.2

2000

2000

1300

:ô,.LJlçFIl

apül c,L*:Il Util ait(
'ôÿlüt 

ù))t Jttë

lÿl+Jr .rrç cLeIt

Éqll _*" 4ÿ\,xLt*
\zoaz+o
* 

zooooo

408.48--

400

-§A_
500

{145760
tgooooo

572.88

650

2000

2000

idtlt ,*
;t*ttJucltp,

=4240
8.48 500 ;,+L5424O 77.12 2000 * KJ iJ-l-rjl a*;:11

150000 qJt*+lt 4JJ*:J1 ;erdiil

:4IUl !U-:lt i.+;iilt çL.- - 6

"LIdl r.o-o ;3u*Tt .lt.ç! - (ù 01.50)


